NOTES:

A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/ POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY
TWIN-DISC CONTROL SYSTEM MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE SECONDARY CLUTCH

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN CENTERED POSITION AND OPEN
WHEN LEVER IS ACTUATED FROM CENTERED POSITION.
2. CURRENT = 20 AMPS MAX.
3. FOR WIRING SCHEMATIC, REFER TO CONTROL DRAWING.

D. PRESSURE REGULATOR ADJUSTMENT.
1. REMOVE 1002144 CAP AND LOOSEN 1002145 NUT.
2. CLOCKWISE ROTATION OF 1020939A PISTON INCREASES
PRESSURE. COUNTER CLOCKWISE DECREASES PRESSURE.
3. LOCK PISTON IN PLACE USING JAM NUT AND REPLACE CAP.

INPUT GROUP REFERENCE PLANE

PTO ADAPTER MOUNTING FACE

LEFT MOUNTING BRACKET FACE

~OWIN =

RIGHT MOUNTING BRACKET FACE

@13.5 THRU,16 HOLES

EQUALLY SPACE D\._
2

30.3

@17.0 THRU, 12 HOLES/ 1%

EQUALLY SPACED

FLYWHEEL OUTLINE
MUST CONFORM TO
SAE J620 NO. 530

OIL GAUGE

6.4 —=] =

~—— 147.7 —

—— 16.0

SAE # 00
— CONFORMS

TO SAE J617

|

y

oy

I N
* : :‘ - |
o
o) |
[o0] I
|
‘ | | -
o
= r L I 3 S
3 - o
3 o | L
ﬁ ‘ ﬁ IR
| |
: |
| OUTPUT SHAFT ¢
M24 X 3.0 THREAD, 38.0 DEEP
e 1476 500 16 HOLES, 8 EACH SIDE
USE ALL 16 HOLES FOR MOUNTING UNIT.

~— 230.0 ———

USE 8.8 PROPERTY CLASS QUALITY CAP SCREWS
PER ISO 898-1 AND TORQUE TO S574
OR SERVICE MANUAL VALUES.

WATER OUTLET FOR
HEAT EXCHANGER

M42.0 X 2.0 THREAD (B)

CONFORMS TO ISO 6149
TIGHTENING TORQUE 108+10 Nm

WATER INLET

G

O

SEE NOTE "A"

/BREATHER / OIL FILLER

FOR HEAT EXCHANGER @ ° @ @ >
M42.0 X 2.0 THREAD F N 5
CONFORMS TO ISO 6149 o o ~ .
TIGHTENING TORQUE 108+10 Nm Sy
™ 1017125 EYEBOLTS (2 Nos.) FOR LIFITING
/’ MARINE TRANSMISSION ONLY.
SECONDARY CLUTCH (FIRST) N\SF EQUALIZE LOAD ON BOTH EYEBOLTS.
PRESSURE PORT -- - -- -
M14 X 1.5 THREAD t S H0n —n
CONFORMS TO ISO 6149 = MAIN PRESSURE PORT
TIGHTENING TORQUE 20+2 Nm R — M12x1.5 METRIC PORT
e Ni= CONFORMS TO ISO 6149
| ) O CONNECT OIL PRESSURE
:‘ ® | GAUGE LINE HERE.
/ N~ | TIGHTENING TORQUE 16+1.5 Nm
< @ |
S [T
SECONDARY CLUTCH (SECOND) H
PRESSURE PORT o o PRIMARY CLUTCH (SECOND)
M12 X 1.5THREAD | PRIMARY CLUTCE
TIGHTENING TORQUE 16215 N ] | M12 X 1.5 METRIC PORT
— | 7 CONFORMS TO ISO 6149
@ | ‘\ | TIGHTENING TORQUE 16+1.5 Nm
0 Hl.,L.l — T
LUBE PRESSURE PORT
M18 X 1.5 THREAD
CONFORMS TO ISO 6149 kAL%gExF;%E%?gEEDPORT
TIGHTENING TORQUE 34+3 Nm MA8 X Jo THREAD S 6140
TIGHTENING TORQUE 34+3 Nm
PRIMARY CLUTCH (FIRST)
PRESSURE PORT
M14 X 1.5 THREAD
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm
LUBE AUXILIARY
M27 X 2.0 METRIC PORT
CONFORMS TO ISO 6149 .
TIGHTENING TORQUE: 75+7 Nm SEENOTE "C
TEMPERATURE PORT
o M14x1.5 METRIC PORT
SEE NOTE "B CONFORMS TO ISO 6149
(BEFORE HEAT EXCHANGER)
TIGHTENING TORQUE 20+2 Nm
\ [T1
| %{ |
WATER DRAIN i~ LUBE AUXILIARY
M10 X 1.0 METRIC THREAD I ‘ | p:ﬂé?\lxlggRl\lcﬂEST%qgggag
NFORMS TO ISO 614 IF T |
TlGHTE,\?,NGOTORSQU% 1820116,\,”2 | _ _ _ TIGHTENING TORQUE 24 +2 Nm
\ |
- ’\
- TEMPERATURE PORT |~
S AFTER HEAT EXCHANGER\W = —
< M14 X 1.5 THREAD i m
CONFORMS TO ISO 6149 | ) ; | Snag cTer
TIGHTENING TORQUE 20+2 Nm %7 | &
i V@ INPUT SPEED SENSOR PORT
[ e 5/8-18UNF-2B TH'D.
u j ik %@J TARGET WHEEL 61 TEETH
] |
T =
{ [ —1 % L \
I R.H. ENGINE
| @ |~ ROTATION DRIVEN
Iy THRU PRIMARY
w + ¢ 24.5 THRU ALL
; 12 HOLES BASED
loo® | ON 14 HOLES EQUALLY
it SPACED
SECONDARY/ 1\ PRESSURE PORT
CLUTCH SHAFT ¢ - - M14 X1.5 METRIC PORT *
o — CONFORMS TO ISO 6149 L]
- TIGHTENING TORQUE 20+2 Nm =3
N o FOR USE WITH OPTIONAL 33
& TRAILING PUMP o
2] o N
() I |
O [

OIL STRAINER—]

\\\
$3250 T \. .
B.C. <
®374.0 7

FOR

~—OIL STRAINER

USE WITH OPTIONAL

TRAILING PUMP

AUXILIARY LUBE SUCTION PORT/
FLANGE SIZE 38 PER ISO 6162 (CODE 61)

M33 X 2.0 THREAD
METRIC PORT
CONFORMS TO ISO 6149

—~— 235.0 -

OIL DRAINL

|

160.0
2 PLACES

40.0
4 PLACES

60.0

235.0 ——

4 PLACES

\TEMPERATURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm
FOR USE WITH OPTIONAL
TRAILING PUMP

\ M12 X 1.75 THREAD
¥ 33.0 DEEP 8 HOLES,
4 EACH SIDE

762.8

—

©®200.00+0.025
PILOT

GREASE FITTING

[

OUTPUT SPEED
SENSOR BRACKET
TARGET WHEEL: 60 TEETH

609.82

- 440. —— 440. -
0.0 0.0 APPLICABLE MODELS:
MGX-6690SC PER 1020674
EQUIPMENT SHOWN: MGX-6848SC PER 1020675
- SAE #00
- SAE 530 CENTA CF-R
- GP VALVE WITH EC050 MODULE B |ECNWF-24215 | 03/25/2014
- FRESH WATER HEAT EXCHANGER REV|  CHANGENO. DATE
. MATERIAL: DATE:
NOTE: I EIGHT. L (A | THRD ANGLE 11/01/2011
: : . /) | PROJECTION SCALE:
ALL POINTS AVAILABLE FOR TESTING ARE CODED SMILAR TO: R’ (g ATTRERT 14 ACINE. WE3103 . USA
METRIC N T e = | oA '
X 075 NK O
R R e s L T T K 0B ey PO "ALC 1025142F
TWIN DISC, INCORPORATED A N A T R e ! INSTALLATION APPROVED BY. |DWG SHEET: REV:
TS T MRy ko SRS BVESHRzr, | PR ASME vidsi 0% MGX-6690SC/MGX-6848SC ALC 9% A0 10F1| B



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View8
	Section View A-A


